Short division
Copy these into your book and solve them using the bus stop method.

1. 525+ 6=
2. 219 +3=
3. 126 +2=
4, 328 +4 =
5.276+3=
6. 729 +9 =
/. 648 + 8 =
8. 436+ 4 =
9. 848 +8 =

10. 5455 + 5 =



Short division
Copy these into your book and solve them using the bus stop method.

1.315+5=
2. 288+ 3=
3. 684+ 2=
4. 528+ 4 =
5 717 +3=
6. 472+ 4 =
7.968+8=
8. 904 + 2 =
9. 765+ 5=

10.895+56=



Short division
Copy these into your book and solve them using the bus stop method.

1. 472+ 4=
2.968+8=
3.904+2=
4. 765+ 5=
5.895+5=
6. 8,792+7 =
7.9,180 + 6 =
8. 11,562+ 3=
9.32,832+9 =

10. 28,480 +~ 8 =



Short division
Copy these into your book and solve them using the bus stop method.

1. 8,792+7 =
2. 9,180+ 6=
3. 11,562 +3 =
4. 32832+9 =
5. 28,480 + 8 =
6. 17,622 +3 =
/. 67,445 7 =
8. 34,605 + 5 =
9. 59,190+ 6 =
10. 33,388 ~ 4 =

In your book, draw how division works, using some of the ways we have
shown (counters and sharing).



